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Internet Technology and Web Design (M2-R4-07-17)

1. Each question below gives a multiple choice of answers. Choose the most
appropriate one and enter in “OMR” answer sheet supplied with the question paper,
following instructions therein.

1.1 | IPv6 addresses have a size of
A) 32 Bits B) 64 Bits
C) 128 Bits D) 256 Bits
1.2 |TCP/IPis a hierarchical protocol suite developed before the OSI Model
A) 32 Bits B) 64 Bits
C) 128 Bits D) 256 Bits
1.3 | Raj can receive his e-mail, but he cannot send e-mail. Which of the following is most
likely causing his problem
A) POP3 B) SMTP
C) IMAP D) UART
1.4 | The 4 byte IP address consist of
A) Network Address B) Host Address
C) Both A) and B) D) None of the above
1.5 | The default port for SMTP is
A) 21 B) 23
C) 25 D) 80
1.6 | In this topology there is a central controller or hub
A) Star B) Mesh
C) Ring D) Bus
1.7 | A computer communication technology provides a way to interconnect multiple
computers across short distance is
A) LAN B) WAN
C) MAN D) None of the above
1.8 | A webpage displays a picture. What tag was to display that picture
A) picture B) image
C) img D) src
1.9 | What is the correct HTML for adding a background color
A) <body color="yellow”> B) <body bgcolor="yellow”
C) <background>yellow</background> D) <body background="yellow”>
1.10 | A proxy firewall filters at the
A) Physical Layer B) Application Layer
C) Data Link Layer D) Network Layer
Answers
1.1-(C) 1.2-(C) 1.3-(B) 1.4 —-(C) 1.5-(C)
1.6 — (A) 1.7 - (A) 1.8 — (C) 1.9 — (B) 1.10- (B)

2. Each statement below is either TRUE or FALSE. Choose the most appropriate one
and enter your choice in the “OMR” answer sheet supplied with the question paper,
following instructions therein.
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2.1 | Mesh topology is highly reliable

2.2 | 255.0.0.0 is default network mask for CLASS A

2.3 | Printer can be shared in LAN by many users

2.4 | POP is the incoming email server

2.5 | .com is represents education domain

2.6. | Internet Service Provider provides services for web hosting

2.7 | ASP is server side scripting language

2.8 | HTML is generally use for web-designing purpose

2.9 | TELNET protocol is working on port 24

2.10 | UDP is used where the acknowledgement from receiver side must be needed
Answers

2.1 -TRUE 2.2 -TRUE 2.3-TRUE 2.4 -TRUE 2.5-FALSE
2.6 — TRUE 2.7-TRUE 2.8 - TRUE 2.9 -FALSE 2.10- FALSE

3. Math words and phrases in column X with the closest related meaning/words/
phrases(s) in column ‘Y’. Enter your selection in the “OMR” answer sheet supplied
with the question paper, following instructions herein

3.1 | Itis stateless protocol A. | ARPANET
3.2 | Itis used to create static web page B. | DNS
3.3 | It can be accessed from any email client C. |ISDN
3.4 |t is used to exchange different kinds of data files on | D. | FDDI
the Internet: audio, video, images, application
programs
3.5 | Itis used to establish a direct connection between two | E. | IMAP4
nodes.
3.6 | First network to implement TCP/IP suite F. |ATM
3.7 | Itis token ring based protocol G. |IRC
3.8 | It is hierarchical decentralized naming system for | H. | SGML
computers.
3.9 | Itis used for digital transmission of voice, video, data | I. File Transfer
and other network services over the traditional circuits Protocol
3.10 | FTP J. PPP
K. |HTML
L. |HTTP
M. | SLIP
Answers
3.1-(L) 3.2 - (K) 3.3—(E) 3.4—(F) 3.5-(J)
3.6- (A) 3.7- (D) 3.8-(B) 3.9-(C) 3.10- (1)
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4. Each statement below has a blank space to fit one of the word(s) or phrase(s) in
the list below. Choose the most appropriate option, enter your choice in the “OMR”
answer sheet supplied with the question paper, following instructions therein.

A. | Repeater B. | Router C. |IRC

D. | MAC address E. | <script> F. | IP Address

G. | SLIP H. | <head> [ UDP

J | E-Commerce K |ATM L <IDOCTYPE>

M | <style>

41 | ___ provides a universal platform to support commercial activities across the
globe.

4.2 | <meta> element can be added in the section of HTML page

4.3 is mainly designed for group communication in discussion forums, but
also one-on-one communication via private messages.

4.4 is physical address of computer

4.5 is device which is used in Network layer

4.6. uses encodes data into small, fixed-sized packets.

4.7 |using tag, you can add Javascript in HTML document.

4.8 is used to identify computer in network

4.9 is an encapsulation of the Internet Protocol designed to work over serial
ports and modem connections

4.10 |the declaration must be the very first things in your HTML document,
before the <html> tag.

Answers

41-) 4.2 - (H) 4.3-(C) 4.4 - (D) 4.5 - (B)

46— (K) 4.7 = (E) 4.8 (F) 4.9 - (G) 4.10- (L)
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Part -2
Qus 5-

A)-Give Difference Between Hub And Switch?

B) Explain FDDI?

C) What Is Network Topology? List All Topoligies. Explain Any Three?

Qus 6-

a) What Is Firewall? Explain Types Of Firewall?
b) Explain The Uses Of SSL To Secure The Network?
c) What Is The Difference Between The LAN, MAN & WAN?

Qus7-

A ) What Is HTML? Plain Principles Of Web Designing?

B) Explain Web Addressing Scheme?

C) Writer A Html Code Using TABLE Tag And Create Following Structure?

A B C
D E | F G
H | J

K

Qus8-

a) What Is CGI?
b) Explain Domain Name System?
c) Explain TCP/IP In Detail?

Qus9-Write Short Notes On:
A)WWW

B) Digital Signature
C)Search Engine



